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GENERAL INSTRUCTIONS TO THE EXAMINEES :
(1) et gdweny 3y yya- ~T3 9 Wi iferdq: ﬁa@ 1

Candldates must first write their Roll Nos. on the question paper compulsorily.

(2) |t T T BT AR E | http

/www . rbseonline.com

All the questions are compulsory.

(3) I Y T I T e § € ford |
Write the answer to each question in the given answer-book ohly.
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The additive im*ersel of _—59‘ 1s |
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The binomial expression'is: . '
P
@) 3 - ’ (b)
(©) 5P+4 o )
3. A R A e ad e -
s @
@) 4 B @
Number of ed‘ges in a cuboid
@ 8 (b
() 4 - S C)
4 TR F A SRR - h
@/aﬁ' - - @
- @ wwem . O @®
Adjacent angles of a parallelogram are
(a) equal _ - (b)
(¢) right angle . (d)

Wt o uwn

Wb2 O

me+2m+5

m-+2m 5

None of these
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None of these
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(31) 180° (n-2) _ @ 90° (n-2)
o(n=2 180° 360°
@) . @ =
I'he formula of cach interior angle of n-sided regular polygon is
@) 180°(n=2) - (b) 90° (n—2)
(n-2) 180° 360"
(©) n , (@ 1
6. e Ryger SER W R o Y wifteea & -
1 1
@) 5 | @ 5
| - :
@ 3 . @ |1
The probability of getting he: 1d on thromnﬂ a wm 1S
1- -1
| (ﬂ) 3 b) 3.
SRR | -. ’ ’ _
(© 3~ () 1 o 1
g 1680000000 <Y W T (ST weheA) ﬁaﬁﬁrﬁﬁm | ¢ - ;
Express ﬁ\ﬁBOOOOOO\O\in standard form (Scienﬁﬁc Notation). . | 2

g, ﬁﬁ%@ﬁﬁgﬁ12753‘{&1%jl3ﬁﬁ36%q&TW%l@ﬂﬁﬁﬁ'ﬂ]’(ﬁﬁﬁﬁﬁ@;

There are 12?5 frees in total in t11e field of Mﬂhan There ire 36% trees that have

fruits. Determmc number of trces havnng fruits in the ﬁeld
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(v - 8) 3R (3y + 5) T P AT |
Multiply (x - 8) and (3y + 3).

10. ﬁmwﬁﬂmﬁwx?ﬂmm@ﬁ‘l:
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In holidays number of’ study hours ¢

veryday of sude s 8 is'shown in the
graph. Answer the 1ollow|ng questi nts nf clas

ons by seeing the p graph.

32 - —

e B
I o2
1 1

205 ~—

164 -

234356 X
' . Number of Study. hours per d; ay.
(i) How marny hours did most of students studied 2

(ii) How many students stuchcd for 5 or less than 5 hours ?

(1) 2 x 33
(i) (57! x 'H)
Find the value

Numbher of Students

[ TN SO Y
| S B |

(i) 37x33° | _
;__.-(11) (5‘1 X 2—1) 6 . ' 2+2-
" 13, Wﬁ@mgwﬁmw%
2101 x 105 - -
Multiply by using Uldhwtlrygbhy'lam fonrula
101 x 105 - -

14, "'ﬁm%f@ﬁmﬁgqm(*)mxmmmﬁﬁq
M 2%
+95
167
CoGi) 68
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=
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Find the value of x or () in following questions : -
() 2+
. ' g

(i) 68 -

X X
- 408
2+2=4
15, ﬁwﬁi%am%mﬁﬁm .
(i) a?-49p*'
(i) x2+5x+6
Factorize the following expressions
(i) a?-—49p2
(i) x*+35x+6 2+2=4
16. M PQRS HHI=TTIgH &, x AT y % WA F1a T | (e a1 )
| 26 - R
P 3y-1Q S
Figure PQRS IS parallelogram.' Find the value of x and y. (length in cnﬁ'_;
. -6 o .
3x 18
P 3y-1 _ Q V3
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TH Y ward 10 it R ) gul garat e A | i B )
The arca and height of the (rapezium are 34 ¢m? and 4 em. One of its parallel sjde
is 10 cm. Find the length of other parallel sidc,

T TR et 1 B I 31w 8 o R | gl ot 17 Srs e I wen w A @

-

Denominator of a rational number exceeds its numerator by 8. If 17 is added 1¢ w

«

numcmlor and 1 is subtracted from dulomlmtm then we get E Find the. mlmnal

number. hnp:.’.-“\nn\'.rbseonhne.com 4
STFFI HAAAHT T I HT g At b am e Hifdra
(i) (5a—=7)(5a-7) |
(1) 99-
LA “_'\-r i
_ Usmt:r sultable 1dent1ty, evaluatc the foiﬁ)wmg
() (Sa <7 (5a= 7) R S
- (ii) 99* g 2+2=4

(ii)




o
By folding the expanded figure (joining the faces), draw the solid ﬁgﬁrc.

[—t—

(1)

(i1)
‘z+z%4
21, A o e bt e < o e el ) e 1 k-
T ¥ P s 3 R G
(i) Wwﬁnﬁﬁ%ﬁm‘d;ﬁ grieand @t 8 7
(ii) mmmﬁuﬁ@aﬂéﬁmﬁﬂﬁﬁﬁ@“m@?

€T |TeTeh hi Terdt
(689)

FTEREHT HET (239),
2.3% HATEA ST HET (52)
> 1.0% S sieh AT (44)

aﬁq'fﬁmﬁfﬁ
AT (616) _
ST I W (657)
0.3% |
TI7E e T 18 =l
(8)
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10
Various mistakes ol vehicle drivers ave shown in pie chart. With the help of pie
chart, answer the tollowing questions
(1) l’crccnmgc of accidents by mistakes of vehicle drivers ?
(i)  How many people underwent accident due (o disobedicnce of traffic ryjeg o

Mistakes of Vehicle drivers
(689)

Disobedience of traflic
rules (239)

2.3% -lndiscip]inc (52)
— 1.9% Sudden

Driving Fast

Braking (44)
(616)
Unknown Reasons
- 0.3% (657)
Drink and Drive o

(®) 2+2=4
22, HTEAT S GRS & SR S Sredt 2 . -
() afe sr = 90 fpHl, = 1 5 thﬂiﬁéﬁﬁ'#ﬁ;3H3¥qaﬁﬂLéT?ﬁ;2@jﬁﬁg{ﬁﬁﬁérﬁ-“
Rl gt sty S T
(if) Q& 60 feet. i wrer ﬂaﬂmmﬁwaﬁ%ﬁwﬁm%mﬁ
R el T S =Tt ol Beft a3 4 52 o o
+ 1,800 &R % 10%?@%@;{@&{&1%@%%%%%@,Gla%
Bhavna wants (o move fr&ﬁ']_ aipur tq :‘J'alore by car. _ »
(1) If car requires” 5 litre petrol’ fcir_'_ moving a distance of 90 km, then what
| distance it will travel in 20 litres ? http://www.rbseonline.com
(i) While reaching Jalore from Jaipur after travelling
speed of 60 km/hr, what will be the
4 hours ?.

6 hours with an average
average speed while returning if it takes

6
. or .
Calculate compound interest on 2 1,800 for |

' p.a., when interest is accumulated half yearly.
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T 11 9t x 4 Ff). éammﬁﬂmmaéh#mﬁd&ﬂa%amﬂum4@ﬁ3@&
'awﬁﬂammmnémmﬂawﬁﬁméﬁMI

The measurement of each part-of the farm.of Ramlal is Uiven (in metres) in the
figure. Find the total cost of ploughing at the rate of X 4 per square metre.

100 R -

P (From 0T) -
OR ‘
4 cm high cylinder is formed after folding (wnhout overlapping ) 11 cm x 4 cm

“rectangular paper. Find its volume.
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ﬁawinsrﬂnmmﬁﬁm

Eieel
RkE ABCD 9 = e Ryt AR
ZABC=120°8 |

OR

http://

Construct a quadrilateral ABCD in whlch A =
and ZABC =

BC=40cm, AD=CD = 6.0 cm
/Www.rbseonline.com

Construct p thombus BEST in wlnch BE = 4.5 ¢m and ET 6I0
measure of the diagonal BS.

. P o 35 e v s AT 3 s

http://www.rbseonline.com

Whatsapp @ 9300930012
Send your old paper & get 10/-
IO R OO Sy 3 10 A o,
Paytm or Google Pay &

O QT BEST H W i Ryt p < 4.5 3ﬁtET 6.0 &l 14

em: Then: find.

-

(1 V7| 2wt | yud | gad | s
| Emt'&tm(l)' | %60 | z__'l.zfé*- 7180 | %240 %'300
Accordmg th) the followmg tat;le draw the graph between time and simple
interest :

Time (t) )} yr.. 2 'yr-. Jyr. | 4yr. | Syr

Simple Interest (I) | T 60 ’\"12:(35.ﬁ i’ 1.80 <240 | X300



